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int
int
int
int
int
int

int

ledPin1=9;
ledPin2=10;
ledPin3=11;
tasterPin=8;
Status;

i=0;

previous = LOW

unsigned long time = 0;

unsigned

void set up(){

pinMode (ledPin1,
pinMode (ledPin2,
pinMode (ledPin3,
pinMode (tasterPin,

void | oop(){

Status=  digitalRead

//Bedingung 6ffnen (Motor in Richtung 1 drehenlass

long debounce = 500;

OUTPUF.
OUTPUF.
OUTPUY.

INPUT);

(tasterPin);

[[Taster

it ((Status== HIGH&&(i==0) && previous ==

time = millis — ();
analogWrite  (ledP
analogWrite  (ledP
analogWrite  (ledP
delay (50);

i=1;

analogWrite  (ledP
analogWrite  (ledP
analogWrite  (ledP

//LEDblinkenlassen
analogWrite  (ledP
analogWrite  (ledP
analogWrite  (ledP

in1,100);
in2,0);
in3,0);

in1,0);
in2,0);
in3,0);

in1,0);
in2,100);
in3,0);

i

Simulieren

LOV&&nillis

i

en)
() - time > debounce)

{



delay (100);

analogWrite
analogWrite
analogWrite

(ledPin1,0);
(ledPin2,0);
(ledPin3,0);

//IBedingung schlieRen (Motor in Richtung 2 drehen | assen)

if ((Status== HIGH&&(i==1) && previous ==
time = millis — ();

analogWrite  (ledPin1,0);

analogWrite  (ledPin2,0);

analogWrite  (ledPin3,100);

delay (50);

LOV&&illis () - time >debounce)

i=0;
analogWrite  (ledPin1,0);
analogWrite  (ledPin2,0);
analogWrite  (ledPin3,0);

//LED blinkenlassen
analogWrite  (ledPin1,0);
analogWrite  (ledPin2,100);
analogWrite  (ledPin3,0);
delay (100);

analogWrite  (ledPin1,0);
analogWrite  (ledPin2,0);
analogWrite  (ledPin3,0);



